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EFRAS R H S
2018 &£ 7 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 — 0.032 0.005 &
LA i 1.512 0.003 — 0.539 0.077 =
Z/LE (HCD 4,545 0.001 —0.442 0.072 TE
mIbE (HF) 0.306 0.004 — 0.093 0.023 =
— &b (SO2) 15.147 0.031-8.384 2.606 =
—4&bi% (CO) 7.578 0.000 — 2.291 0.062 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.323-10.231 3.871 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 — 0.006 0.005 &
LA 0.756 0.024 —0.143 0.078 =
/L4, (HCD 0.756 0.050 — 0.104 0.072 =
wAbE (HF) 0.072 0.017 — 0.030 0.023 s
— &b (SO2) 3.789 2.277 - 2.877 2.607 =
—&Ei% (CO) 3.789 0.029 —0.137 0.063 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.863 — 5.559 3.883 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 107 <5.857 x 1010 =
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2018 &£ 7 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 — 0.026 0.003 &
LA i 1.512 0.003 - 0.512 0.075 =
Z/LE (HCD 4.545 0.046 — 0.217 0.143 TE
mIbE (HF) 0.306 0.007 — 0.081 0.045 =
— &b (SO2) 15.147 0.003 — 4.497 2.334 =
—4&bi% (CO) 7.578 0.000 — 0.092 0.015 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.430 — 8.586 2.143 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 — 0.005 0.003 &
LA 0.756 0.036 — 0.139 0.075 =
Z/LE (HCI) 0.756 0.109 — 0.174 0.143 s
wAbE (HF) 0.072 0.032 — 0.052 0.045 s
— &b (SO2) 3.789 1.823 — 2.758 2.336 =
—&Ei% (CO) 3.789 0.005 — 0.028 0.015 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.944 — 3.914 2.145 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575x 10°° <5.927 x 1010 =
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EFRAS R H S
2018 &£ 7 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 — 0.067 0.005 &
LA i 1.512 0.011 —0.692 0.080 =
Z/LE (HCD 4,545 0.018 - 0.131 0.072 TE
mIbE (HF) 0.306 0.002 — 0.060 0.031 s
— &b (SO2) 15.147 0.007 —5.139 1.915 =
—4&bi% (CO) 7.578 0.001 —0.243 0.067 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.473-9.014 1.799 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 - 0.022 0.005 &
HEA T 0.756 0.029 — 0.145 0.079 =
/L4, (HCD 0.756 0.037 - 0.112 0.070 =
wAbE (HF) 0.072 0.021 —0.036 0.031 s
— &b (SO2) 3.789 1.369 — 2.355 1.897 =
—&Ei% (CO) 3.789 0.010 - 0.115 0.065 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.071-4.318 1.795 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0016 =
R A 0.0378 <0.0073 &
IR R g ) 7.575 x 107 <7.983 x 1020 &
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